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Properties of Parallelograms (pg 403)
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What are the coordinates of the intersection of the diagonals of
parallelogram MNPR, with vertices M(-3,0), N(-I, 3), P(5,4) and R(3, I)?
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Consider ~—~7ABCD and the given information and write a paragraph proof.

Given: /—7ABCD, AC and BD are A B
diagonals, and point P is the v
intersection of AC and BD. .

Prove: AC and BD bisect each other. D C

Proof:
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Consider the figure and the given information and write a two-column proof.

Given: /7HJKP, and Statements Reasons

LTPKIM
Prove: H/=ML





image10.png
To chart a course, sailors use a parallel ruler. One edge of the ruler
is placed along the line representing the direction of the course to
be taken.Then the other ruler is moved until its edge reaches the
compass rose printed on the chart. Reading the compass

determines which direction to travel. The rulers and the crossbars
of the tool form Z—7MNPQ. Mascrfle

a. [f mZNMQ = 32, find m£ZMNP.

b. If m£ZMQP = 125, find m£ZMNP.

c. If MQ = 4, what is NP?
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The arm of the basketball goal shown can be adjusted to a height of
10 feet or 5 feet. Notice that as the height is adjusted, each pair of opposite
sides of the quadrilateral formed by the arms remains parallel.

w

W
What properties make the figure formed by the arms, the post, and the goal
a parallelogram?
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Proof:Theorem 6.4

Theorem 6.4 states that if a quadrilateral is a parallelogram, then its opposite
angles are congruent. Complete two-column proof of the theorem.

Given: /_JFGHJ Prove: /F=/H, /= /G
l. 1. Given
2. FG || JH:F IGH 2.
3. 3.1f parallel lines are cut by a

consecutive interior angles are
supplementary.
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In Z—7ABCD, suppose m£B = 32, CD = 80 inches, BC =15 inches.
Find each measure.

a. AD
b. m«£C T T—
[ ]
(T
C. mAD L —/>=
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The wall-mounted mirror shown uses parallelograms that change shape as the
arm is extended. /—/JKIM, suppose mZJ = 47.Find each measure.
A mzL

B. m«M

C. Suppose the arm was extended further so that J 0
mZJ = 90. What would be the measure of each b
of the other angles? Justify your answer.
i
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If WXYZ is a parallelogram, show how to find the value of each indicated
variable.

a.r
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Find the value of each variable in the given parallelogram

A y+8 B.

N




